Interior installation

Assembly components

Angle bracket PS

For quick attachment of
punched rails 23 x 23 mm.

Installation options:
® On the vertical TS enclosure section via
— Adaptor rail for PS compatibility,
see page 997
® On the horizontal TS enclosure section
® On enclosures and rails with rectangular
system punching 12.5 x 10.5 mm.

Material:
Sheet steel, zinc-plated, passivated

Supply includes:

1set=

1 angle bracket, left,

1 angle bracket, right,

2 metal screws 5.5 x 13 mm.

Packs of Model No. PS

12 sets 4181.000

IIl Also required:

U nuts for punched rails (recommended: M6),
see page 1010.

Multi-tooth screws M6 x 12 mm,

see page 1011.

- —

Support bracket TS

For the attachment of

punched sections without mounting flange
23 x 73 mm or

punched rails 23 x 23 mm.

Installation options:

e On the vertical and horizontal TS enclosure

section
— on a 25 mm pitch pattern
—in 2 mm increments.

Material:
Die-cast zinc

Supply includes:

1set=

1 support bracket,

1 stay,

3 metal screws 5.5 x 13 mm.

Packs of Model No. TS
6 sets 8800.330

German patent no. 199 37 892

IIl Also required:

U nuts for punched rails (recommended: M6),
see page 1010.

Multi-tooth screws M6 x 12 mm,

see page 1011.

.

Rittal Catalogue 32/System accessories

Support bracket PS

For the attachment of

punched sections without mounting flange
23 x 73 mm or

punched rails 23 x 23 mm.

Installation options:
® On the vertical TS enclosure section via
— Snap-on nut TS 8800.806,
see page 1005, or
— Adaptor rail for PS compatibility,
see page 997
® On the horizontal TS enclosure section
® On enclosures and rails with rectangular
system punching 12.5 x 10.5 mm.

Material:
Die-cast zinc

Supply includes:
1set=

1 support bracket,

2 countersunk screws,

2 serrated lock washers.

Model No. PS
4183.000

Packs of
24 sets

IIl Also required:

U nuts for punched rails (recommended: M6),
see page 1010.

Multi-tooth screws M6 x 12 mm,

see page 1011.

Adaptor rail for PS compatibility (when mounting
on the vertical enclosure section),

see page 997.

1007

Assembly components

£



